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SR AL
r=6 cm d=4 JEX r=2.5 cm
d= r= d=
=74k d=175K d=3m
d= r= =
r=3.5%K d=12 JEXK r=4.5 dm
d= r— =
r=10 JEK d=10 JEK r=7.5 cm
d= r= d=
r=>5 JE kK d=5 XK r=19 em
d= r= d=
r=0. 8 7k d=0. 8 7k d=19 em
d= r= r=
r=3.2 XK d=3.2% d=50 dm
d= r= r=
r=13.4 ZXK d=13.4 2K r=4.6 m
d= r= d=
r=>5.6 % d=5.6 % d=4.6 m
d= r= r=
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R=S5ix7t
%+5= 1+%: %+%:
%+4= 3+%_ g+%:
%%3: 2%%: %+%:
1—3O+3— 6 172_ %+%:
%+2: 4+%: %+%:
1—85+5= 3+%: %+%:
%+4 8+%= %+%:
%+6— 6+%: %+%:
S4= 1+1] 1a2
29— 13+5)= L1
10— 30+ = 2+
%+7— 18+%= %+%
R B B i
FH g Bh, BRSO
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3. 14X 1= 3.14X0. 1= 3.14X0.5X2=
3. 14 X2= 3.14X0. 2= 3. 14X0. 1 X2=
3. 14X 3= 3. 14X0. 3= 3. 14 X1.5X2=
3. 14X 4= 3.14X0. 4= 3. 14X2X2=
3. 14 X5= 3. 14X0. 5= 3. 14X2.5X2=
3. 14 X6= 3. 14X0. 6= 3. 14X 3X2=
3. 14 X7= 3.14X0. 7= 3.14X3.5X2=
3. 14 X 8= 3. 14X0. 8= 3. 14 X4 X 2=
3. 14 X9= 3.14X0. 9= 3. 14 X4, 5X2=
3. 14 X10= 3. 14 X20= 3. 14 X5X2=
3. 14 X100= 3. 14X 30= 3. 14 X50X2=
3. 14 X1000= 3. 14 X40= 3.14X20X2=
3.14X0.01= 3. 14 X50= 3. 14 X25X2=
3.14X0.02= 3. 14 X60= 3. 14 X30X2=
3.14X0.03= 3. 14 X80= 3. 14X 35X 2=
3. 140, 05= 3. 14 X90= 3. 14 X45X 2=
R B B i
JREliN) I B, BXF
B



3. 143, 14=

6.28=+3. 14=

9.42-=-3. 14=

12.56-+3. 14=

15. 73, 14=

18.84-+3. 14=

21.98--3. 14=

25.12-3. 14=

28.26+—3. 14=

62.8=+3. 14=

6283, 14=

94, 2--3. 14=

125.6-3. 14=

25123, 14=

2198-+3. 14=

ErIE K (2)
3. 14+3. 14+2=
6. 283, 14+2=
9.42—-3.14—2=
12. 563, 14=-2=
15.7+3. 14+2=
18.84+3. 14+-2=
21,983, 14+2=
25,123, 14-+2=
28,263, 14+2=
62. 83, 14=2=
6283, 14+2=
04, 23, 14+2=
125. 63, 14+2=
2512-—-3.14—2=

2198=-3. 14+2=

31.4-=-3. 14+2=

0.314=3. 14+2=

0.628+3. 14+2=

1.256+3. 14=-2=

1573, 14=2=

1570=-3. 14=+-2=

1884-=-3. 14+2=

188.4-+3. 142~

219.8=3. 14=+2=

3140=-3. 14+2=

251.2=3. 14+2=

282.6+3.14=+2=

94203, 14+2=

942-=3. 14=2=

2.826=3.14+2=
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. 14X0. 3= 3. 14X (2+5)= 3.14X2+3. 14 X5=

. 14X0. 5= 3. 14X (3+6)= 3.14X3+3. 14 X6=

. 14X0. 6= 3. 14X 3+ = 3.14X3+3. 14 X7=

L 14X0. 7= 3. 14X (12+18)= 3.14X12+43. 14 X18=
. 14X0. 4= 3. 14X (3.5+4.5)= 3. 14X3.5+3. 14 X4, 5=
. 14X0. 8= 3. 14X (1149 = 3. 14 X11+3. 14 X9=
. 14X0. 2= 3. 14X (65+35)= 3. 14 X65+3. 14 X35=
. 14X0. 9= 3. 14X (9—6)= 3. 14X9—3. 14 X6=
14 XT70= 3. 14X (25—5)= 3. 14X25—3. 14 X5=
L 14X40= 3. 14X (7T—2)= 3. I4XT7T—=3. 14 X2=
.14 X80= 3. 14X (A1—9)= 3. 14X11—3. 14 X9=
14X 20= 3. 14X (16—8)= 3. 14X16—3. 14 X8=
. 14X90= 3. 14X (23—17)= 3. 14X23—3. 14 X17=
. 14X 300= 3.14X(25—21)= 3. 14X25—3. 14 X21=
. 14X400= 3. 14X (30—23)= 3. 14X 30—3. 14 X23=
. 14X 500= 3. 14X (85—15)= 3. 14X85—3. 14 X15=
R B B i

JREliN) I b, B L

3. 1415927 18], iX — st 2 5% B4R 28 T 29 1000 4,
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Ir= 3.14X1%= 3.14X (0, 2+2) =

5r= 3.14X 2= 3. 14X (0, 4+2)% =

8" = 3. 14X 3= 3.14X(0. 6+2)*=

0.12= 3.14X0. 1?= 3. 14X (20+2)?=

0.2°= 3.14X0.2°= 3. 14X (40+2)?=

0.3%= 3.14X0. 3°= 3. 14X (60+2)*=

0. 4> = 3.14X10*= 3. 14X (200+2)%=

0.5%= 3.14X20%= 3. 14X (400+2)%=

0. 6% = 3.14X30* = 3. 14X (600+2)% =

0. 7%= 3.14X100%= 3. 14X (6. 28+3.14+2)=

0. 8= 3.14X200% = 3.14X (12,563, 14+2)*=
0.9*= 3. 14X 300% = 3. 14X (18. 843, 14+2)2 =

10 = 3. 14X (2+2)t= 3. 14X (62.8+3. 14+2)?=

20° = 3. 14X (4+2) = 3. 14X (125, 63, 14+2)2 =

30° = 3. 14X (6+2)= 3.14X (188, 4+3. 14+2)*=

R B B i
JHRT o LTSS B 8
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2r—1*= 3. 14X (22 —15)= 3.14X2*—3. 14X 1*=
3E—2t= 3. 14X (37 —2%) = 3. 14X 32 —3, 14X 2*=
4r—3= 3. 14X (45 —3%)= 3. 14X 42 —3, 14 X 3*=
4r—1r= 3. 14X (0. 3*—0. 1) = 3. 140, 3*—3.14X0. 1*=
52 —4r= 3. 14X (52 —4*)= 3. 14X 52 —3. 14 X 4*=
7P—3t= 3. 14X (7" —3%)= 3. 14 X7*—3.14X3*=
g —2t= 3. 14X (8 —2%) = 3. 14X 8 —3, 14X 2*=
9P —1*= 3. 14X (9" —1*)= 3. 14X9*—3, 14X 1*=
7P —5t= 3. 14X (20°—10*) = 3. 14 X20*—3. 14 X10*=
67 —4*= 3. 14X (40*—30%) = 3. 14X 407 —3. 14X 30 =
g —7"= 3. 14 X (30 —20*) = 3. 14X 30 —3. 14 X 20*=
92 —8*= 3.14X (0. 7*—0. 3*) = 3.14X0. 7" —3. 14 X0. 3*=
102 —8*= 3. 14X (0. 82—0. 2*)= 3. 140, 8% —3.14X0. 2=
4r—2t= 3.14X (0. 4*—0. 3*)= 3.14X0. 4*—3. 14 X0. 3*=
0.5°—0.4*= 3.14X(0.9*—0.15)= 3.14X0. 9 —3. 14 X0. 1=

R B B i
JHF I B, BXF
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&HRE—~
3. 14X 1X 2= 3. 14X 12= r=2m
3. 14X2X 2= 3. 14X 22 = d=C  Om
3. 14 X3X2= 3.14X3%= C=( )m
3. 14 X4X2= 3.14X0. 1*= S=( )m?®
3. 14X0. 1 X2= 3. 14 X0, 22 = d=2 cm
3. 14X0.2X2= 3.14X0. 3*= r=-{( )cm
3. 14X0.3X2= 3. 14 X10*= C=( )cm
3. 14X0.5X2= 3. 14X 20*= S=( ) cm’”
3. 14 X10X2= 3. 14X 30*= C=12.56 dm
3. 14 X20X2= 3. 14 X50= d=( )dm
3. 14X 30X 2= 3. 14 X500= r=-{( )dm
62.8+3. 14=+2= 3. 14 X600= S=( ) dm?
942-=-3. 14=2= 3. 14 X7= C=18.84 m
1.57=3. 14+-2= 3.14X0. 8= r=( )m
12.56=3. 14=-2= 3. 14 X90= S=( )m’®
R B B i
JREliN) I B, BXF
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3. 14X 5= 12,563, 14-+2= 3. 14X (6+2)7 =
3,14 X0, 7= 95.12+3. 14+2= 3. 14X (40+2)2 =
3. 14X 8= 282. 63, 14+2= 3. 14X (0, 2=2)? =
3. 14X 90= 6283 14+ 2= 3, 14X (82—22) =
94,23, 14= 3,14 X3, 5X2= 3,14 X2, 5X 2=
18. 843, 14= 3,14 X4, 5X2= 3143, 14+ 2=
3. 14X 32 = 3. 14X 40X 2= 3.14><2><%=

62 —12= 18843, 14+2= 3.14><4><%=
10243 = 3,14 X1, 5X2= 3.14><1o><%=
3. 14X 102 = 3. 14X 4X 5= 3.14><22><%=
3,14 X0, 6= 3. 14X5X 6= 3. 14X 4%+ 2=
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180+36 =5 (Hf) 6 —5=1(H})
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2
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3
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LJE: 5X9X60% =27 (JT)
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5(1)5 7 6 2 20
(2) /MiG: 558 i, 75 K. 65
K. 2£

VU1 1Al v 2 il

35 21 1 1

3,134+ (

1271
2 9 4 5 2 9

1 3
2.(1) o (2) 450 (3) B

3.(1)x=11.7 (2)x=500
4.(1) C=2mr

=2XmnX5

=314 (cm)



— N

H B

N
AN

(2) Sy= Spy—

6 1
=(6+38) ngz—zn(
=21 — 14.13 = 6.87 (cm®)

5(1)5:18 (2)5:7

MERLZI/NT 1R, B 0.5 K,

NERHF L (BS)

62
2)

1 1
B 0.5><§:0.1 (K), gilé> 0.1%,

e A
%%%Kﬁl%ﬁ,%—&m:lx%:

SESERNYRYE FH SRR 2 R R
MR KTF 1 KA, BER 5K,

[N
g(?ié),

%4&%:5X%z10&%1*>%*,

EH LK

. 1.(1)% (2) 1256 (3)10.28

ZU)éﬁﬁiziiﬁix(1+%)

u>¢%m%ﬁam%gﬁﬁwg

(1)2m:1 (2)84 (3)24
(1) 100.8 (2) 86.7%
AO2X 33X 4N 5V
A 2.B 3B 4D 5.C

(2)1:1 (3)3:2
4.01) #&k,

. L Cﬁ: 2mr

(2) WAL,
A|lB|C|D|E|F

1 1 1

1111

oo ||l |m | >

1 1 1 1 1

544+34+2+1=15(3)

@6x (6—1) =2=15 () (BERfE—)
r=1256+314+2=2 (%)

S =3.14Xx2>=12.56 (FIk)

S[ﬁ]: TU"2

2. FIAE: S = R —

R=16+2-+2=10 (k)
r=16+2=8 (k)
S =3.14X10" — 3.14X 8 = 113.04 (FJk)

11
3.600% (1———2) = 600X =110 (mL)
12 5 60

4. W SEL: 350+ %: 840 (7)

5.4

ZNTE: (840 —350) X i:zlo (&)
3+4

PIATIH: (840 — 350) X —— =280 (4)
3+4

S5 T 3 120
a— 5

H_/

S
wawl  BRETHG

. fé - fi = —_— e
12+ (1 6).(1 7).(1 )

216 (i)

O | N



	
	黄冈小状元练重点六年级数学上（夹卷）

	
	6年级封面bs_部分6
	数学作业本BS六年级正文




